M 74HE4H9H

A AL C S

(A1 7 4 2 HARIAE)



H X

1 KRR OSGHIL CHFEAIRD

RsEE

i Ll ZEE 2L

BBUNSEH L

PSR

e Tl 24 2L

A EH B

ERpeyill iy 4

8 JEEIEIRBIZEE L

9 AREEHISEE R

10 #4EH DIRERIZEE 2L

11 Wik OIRERIZEE L

12 FBOERIISEE R

13 HBhgifEdH b O > — b <v b EHRBEBIZES B
14 @i G 1435 M1) @327 2 JHRIFE A
15 4E e 5

16 #fisE G 1 435 M) OHfUMNFEAEME

17 #FAEEIC L 20EE GF 1 44858 0) Y HF M
18 Wil ic & 20iRE G 1 4488 0) Y HF T
19 i#fisE G 14355 M1) omfT HRsIZEE 4
20 FEEHZEATI R 1 435 01) OFREME

N ON G W =

2 BERISEROER - HRIZEH

#3 HIETRRIZEC I 0 HEX

4 2E - WO CHEFEAEIRDIL
1 &[] - JHDIEHEL
2 N0 - Hidlg 1 56 - REFAN10 ANL72 Y DIEHEL
3 JUNS IR DIEH I
4 HRENF IS I B R

#5 2E - WO CHEBFEAEIRDIL



Bl KXHSROXBICHEHFELEINR

1 RARIEELHK

X5 18 2R 3R 4R 5A° 6H 7R 8H 9R 10A | 11A | 12R

RE 2 5

EUE:S 3 2

1R -1 3

2 BEBREEH

X5 HEE | ABE | KBE | KEE | KEE | &8E | 182 B

RE 2 2 2 1 7

UE:3 3 1 1 5

b -3 1 2 1 1 2

3 BERAFEEHK 4 MRIFEEH

X5 BRE | ®’MHE H X5 8 z H

RE 2 5 7 RE 6 1 7

ik 3 2 5 Gf:3 2 3 5

BiR -1 3 2 i 4 -2 2

5 FEAIEEH

X5 0~2 | 2~4 | 4~6 | 6~8 | 8~10 [10~12|12~14]|14~16(16~18| 18~20| 20~22| 22~24

RE 3 1 1 2

EUE:S 1 1 1 1 1

1R 2 -1 -1 -1 1 2

6 EEHRAIEE K

X5 ESpEE]

¥o
fm
&+
.
aHF
i
1
LI

R4 4 2 1 7

:UE:3 2 1 2 5
iR 2 1 -1 2
XEREFER-BEE
7 ELERIEEH
X5 R10 [ R197 | R210 | R212 | R213 [ ZDfh| &
RE 1 1 2 4
;IE:3 2 2
iR 1 1 2
X EER-BHEETOMED

8 EMMIRAITEE R

RH | XEH| BR | p—T-z0ftt |

p. - 5 1 1 7

RIS 3 2 5

iR 2 1 -1 2
XREHEMTEEET



9 KREZI

. e & BERHE ST |
BERAR | R | SBER A | AFES | REH SHHHR
RE 2 1 1 3 2 7
CUE:3 1 1 3 5
i 1 -1 1 1 2 2
10 HEERERIEER
. e & BERE 1T |
BERAR | R | SBER A | AFEAH | REH SHHHR
RE 1 1
IE:3
i 1 1
11 EEETEEIRER
. 7o # & SN 1T |
BERAR | R | SBER A | AFEH | REH B L
E 1 1 1 1 3
CUE:3 1 1 2 4
i -1 1 -1 1 -1
12 EHERRIFEEL
. AR B — HWAE -
&b R EEHE | HEUGE|Z D1
KE 3 2 1 1 2 7
CUE:3 3 2 5
i 2 1 -2 1 2 2
13 BEIERHEHOS—MLERIRRBISEE 5
BEE S—hRLNERD B E FrA IR — ERDHE
X4y |&wE| REP # 3R Ex: # A 3R
R HWRE R R HWRE HWRE
KE 7 2| 286 1| 500 1| 500
CIE:3 5 2| 400 2| 1000
i 2 -1 1
14 BEE (F14BEA) OE-RRABFEEHHK
BIA | 7L | 55 | ##% )
X5 HE Zof| &
TEE THR| B8 [ =X
RE 3 1 3 7
CIE:3 2 1 2 5
i -2 2 1 1 2




15 R AITEE

- 15/ | 16~ | 25~ | 65 . 5
LT | 245 | 64 | UL
p. Y- 1 2 4 7
-3 1 4 5
i 1 1 2
16 BIRE (F1LBEA) OERBIREHRK
- 15/ | 16~ | 25~ | 65 . 5
LT | 24 | 64 | UL
p. Y- 1 4 2 7
-3 2 3 5
i 1 2 -1 2
17 BEBITKLDEEE (F14EEM) OIREER LMK
£ M | —# | R | BE:E| O] Et
RE 1 1
IE:3
iR 1 1
18 SEEICKEERE (F14SFA)KENFREH
X% M | —# | R | BEE| ZzofM| F
RE 2 2
CUE:3 3 3
iR -1 -1
19 BIRE (1 HBEA) OBITE MRS EH
. £k | EEH -
X% | HiRY | BRE
RE 3 2 2 7
B4 2 3 5
iR 1 2 -1 2
20 BIIEEMRA (E1LEBEHA) FEHH
=4 REELEEE| BTEEE
FEHE EER |REGE EEK
RE 2 2 1 1
;IE:3 1 1
iR 2 2




g B - R A % F

SM7HE2A28B8E

1A | 2A |38 | 48 5R 6R 7R 8H 9F (10A | 11A | 12A | & &t

FM7E 2 5 7
REt 2 7
FM6EF 3 2 2 3 2 0 4 1 3 5 0 3 28

R&t 3 5 7 10 12 12 16 17 20 25 25 28

R[5 4 1 1 2 2 1 1 5 5 4 2 4 32

REt 4 5 6 8 10 11 12 17 22 26 28 32

FMAE 2 2 1 2 6 1 1 3 4 3 3 4 32

REt 2 4 5 7 13 14 15 18 22 25 28 32

[M3EF 1 6 1 6 1 3 2 1 3 4 5 3 36

REt 1 7 8 14 15 18 20 21 24 28 33 36

[M2EF 6 4 7 1 3 3 1 3 1 6 6 2 43

REt 6| 10| 17 18 21 24 25 28 29 35 41 43

SEM DI 32| 30| 24 28 28 1.6 1.8 2.6 3.2 44 3.2 3.2 34.2

#Rat|| 32| 62| 86| 114 | 142 | 158 | 176 | 202 | 234 | 278 | 310 34.2

fHTE 2 0 7 7 4 3 4 2 6 2 2 2 41

REt 2 2 9 16 20 23 27 29 35 37 39 41

TR 304F 3 1 3 0 4 6 2 3 2 5 2 8 39
REt 3 4 7 7 1 17 19 22 24 29 31 39
T R294F 3 2 3 6 3 2 6 4 3 3 5 4 44

REt 3 5 8 14 17 19 25 29 32 35 40 44

TRL284F 4 0 3 2 5 3 3 2 4 5 3 8 42

REt 4 4 7 9 14 17 20 22 26 31 34 42

TR274 1 1 3 4 3 7 5 9 3 4 3 3 46

REt 1 2 5 9 12 19 24 33 36 40 43 46

SEM DI 26| 08| 38 3.8 3.8 42 40 40 3.6 3.8 30 5.0 424

#Rat| 26| 34| 72| 11.0| 148 | 190 (| 230 | 270 | 306 | 344 | 374 | 424

105F D 15 29| 19| 31 3.3 3.3 29 29 33 34 41 3.1 41 38.3

Rat| 29| 48| 79| 112 | 145 174 | 203 | 236 | 270 | 311 | 342 383




F£3 WHNAIRTERO0 B

SMT7E2A280 HE

NE iz ELIENE =g =X FETHEHR0 B

1 8B S FRK7E£10838 10,741 H
2 zzEns SM4E6R15H 989 H
3 H HE7 SMAEIA4H 908 H
4 M 4M4E11826R 825 H
5 EART |$M5F1A3H 787 H
6 HEHT S M5E9824H 523 H
7 E®m 4M6E1R29A 396 H
8 FiEmh SM6ETH16AH 227 H
9 EBRAXHT [fM6E8A16H 196 H
10 WERHT SM6FE9A8H 173 H
11 F#F 4ME6EL0R1H 150 H
12 2T 4M6E10830A 121 H
13 RIAFTH SM7TE1A4H 55 H
14 FrE™ SM7E1830HR 29 H
15 R SM7E2A6H 22 H
16 2%eHEHTm [($M7HFE2H14H 14 H
17 1A SM7TE2/21 1 7 H
18 HHE SM7E2825R 3 H




£4 2E - AWMORTEHFEERRT

S 7E2 B28BBRE
1 28 - AMoREEK
e ES| A | KR
ST E 423 58 7
S0 6 &£ 405 56 5
KRR 18 2 2
KRR 4.4 36| 400

2 ANQOLOBA-E@m1IGE - RFAALOEAZHY OREHK

2EF | A | RPE

AO10BAZ7AY | 0340 | 0.413 | 0.639

BHllAaH/<Y | 0.046 | 0.048 | 0.068

REFAOI0AASZY | 0517 | 0.617 | 0.934

3 AMBRDOIEEL

BE | B | BB | BA | kH | 26 |ERS | e | BRE

SM7TE 16 3 6 6 7 5 9 6 58
&6 &F 18 6 5 6 5 1 6 9 56
L -2 -3 1 0 2 4 3 -3 2

BB -11.1| -50.0 20.0 0.0 40.0 | 400.0 50.0| -33.3 3.6




£5 2EH - AMoRTEREEIRR

AT 28 280 (&) |y

R H 02H0IH ~ xH 0LHO0IH ~ O02HKH
YR I . L ] . e . . .

BRI e | e | o | e | || A T |0 D ] 9

TC WL 3 2 66.7 2 5 7 140.0

A 0 — 2 2 —

AL m 1 1 — 3 2 1 50.0

g IS 2 2 = 6 6 —

I A7) 1 1 — 2 2 0 0.0
G 0 0 7 3 6] 200.0 75 7 7 16 21778 3
5 2 3 —1|  -33.3 5 29 3 =3 34| 37.5 30
w e T i 3 -2 -66.7 7] 37 7 -3 34| —42.9 11
= IR 5 i 4|~ 400.0 7 19 9 -2 31 —22.2 32
* H 4 4 — 5 29 4 1 14 25.0 16
0 72 i i 0 0.0 3 11 3 0 21 0.0 21
= B 3 2 I 500 10 4 1 = B 9.1 28
5 0 0 16 0 3 0.0 31 17 =] : —19.0
B 0 0 T0 9 T TT.1 71 T 71 0 71 0.0 71
KK T 3 5 T 20.0 18 5 2 3 5 50.0 1
i R 1 3 -2 -66.7 13 12 6 7 4 116.7 6
" [ 1 1 2 2]~ 100.0 9 15 1 5 6] 125.0 5
B 1 3 1 4]~ 100.0 17 7 3 9 3 1125 7
T = 15 15 0 0.0 25 2 25 0 21 0.0 21
FRZ 1 15 6 9 150.0 33 1 13 20 [~ 153.8 7
B e 1 3 5 -2 -40.0 6 22 10 =1 39 -40.0 10
ITE:S 0 = 1 16 2 -1 28] —50.0 12
RIE® 9 =9 -100.0 2 11 10 -8 17 -80.0 16
| FF I z 7 =3[ -42.9 16 9 12 1 7 33.3 14
i 7 T 56 56 0 0.0 140 02 38 37.3
R 2 2 0 0.0 5 29 T T ! 25.0 16
i | AT 2 —2[ -100.0 17 1 ) 39| -100.0 a7
'\ 3 1 2] 200.0 4 37 1 3 9] 300.0 2
B i 6 5| —83.3 5 29 12 =7 15| 58.3 15
= 3 12 —4[ -33.3 15 1 22 =7 45| —31.8 34
= = i 3 1 =1 —25.0 9 15 9 0 21 0.0 21
G T 0 7 o7 =10 —37.0 38 52 1 ] -26.9
VA T 2 —1| -50.0 7 37 3 T ! 33.3 4
i LR Eal 1 2 2] 100.0 7 19 7 0 21 0.0 21
K T 9 11 -2 -18.2 18 5 20 -2 31| -10.0 29
It 9 6 3 50.0 17 7 22 -5 43| —22.7 33
w B 2 2 0 0.0 6 22 3 3 9] 100.0 3
- e T 2 2] 100.0 6 22 5 i T4 20.0 19
5 0 0 29 25 T 6.0 53 B0 = =33
JEAi 1 1 0 0.0 2 11 T T4] 100.0 g
m [ B R 1 1 — 4 37 2 2 12| 100.0 8
] 11 i 1 3 6 -3 -50.0 6 22 9 -3 34 -33.3 35
N 6 12 6| -50.0 1 13 17 6 24| —35.3 38
=] 3 2 i 50.0 5 29 1 1 14 25.0 16
i T T 7 21 =7 333 78 33 -5 ] -15.2
= 2 T T 100.0 3 11 7 ) 39 57.1 11
pg [ & T i 2 1 =2 -50.0 5 29 6 -1 28] -16.7 31
= I 1 2 2] 100.0 g 18 12 =7 39 —33.3 35
B I 3 3 0 0.0 5 29 5 0 21 0.0 21
G 0 7 T 0 T 0.0 71 30 ) ~=30.0
T 7 5 2 70.0 16 9 18 —2 31| 111 30
= g 3 =3[ -100.0 3 a1 6 -3 34 -50.0 12
N EAL 3 2 i 50.0 6 22 5 i 14 20.0 19
BEES 5 3 2 66.7 6 22 6 0 21 0.0 21
K % 5 2 3 150.0 7 19 5 2 12 70.0 13
R 1 2 2 = 5 29 i 1 7] 400.0 T
W TERE 5 7 I 25.0 9 15 6 3 9 50.0 11
PO 5 =5 -100.0 6 22 9 -3 34 —33.3 35
5 T 0 o7 o1 3 25 58 56 7 36

R 7 T T30 35 T 7.7 173 705 K] T




